Ho! Ho! Ho!

(-
Work out the answers to the questions. Each number is linked to a letter. Use these letters to reveal the punch line of
the Christmas jokes. Remember to read the clues across the page.

A B C D E F G H I J K L M
2 4 5 6 7 8 9 10 11 12 13
N 0] P Q R S T U \Y W X Y z
14 15 16 17 18 19 20 21 22 23 24 25 26
. What do you call a cat on a beach at Christmas?
10+10-1-= 100 - 99 = 28 - 14 = 12 -8 = 16 + 9 =
15-12 = 24 - 12 = 82 -81 = 50 - 27 = 38-19 =
. Where does Santa keep his money?
90 - 89 =
30-11 = 20+ 10 - 16 = 30-15 = 17 + 6 = 82 - 80 =
17 - 16 = 3+3+5+3-= 22 -11-=
3. What's a snowman'’s tantrum called?
199 - 198 =
5+5+5-2= 23 -18 = 36 - 24 = 100 - 80 = 18-15+1=
8+7 = 56 - 33 = 6+6+2=__
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4, What do you call an old snowman?

203 -202 =

32-15-1-= 13+8 = 16 - 12 = 15-11 = 7+5= 25-10-10 =

5. What illness do elves suffer from?

140 - 127 = 27-13-5-= 140 - 121 = 288 - 268 = 409 - 397 = 136 - 131 =

10+6 +4 = 24 -15+ 6 = 18-16 +3 = 135- 116 =
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o It's a Cracker!

Work out the answers to the questions. Each number is linked to a letter. Use these letters to reveal the punch line of
the Christmas jokes. Remember to read the clues across the page.

A B C D E F G H I J K L M
2 5 6 7 8 9 10 11 12 13
N 0] P Q R S T u \Y w X Y z
14 15 16 17 18 19 20 21 22 23 24 25 26
1. What do you call Santa in the South Pole?
300-289-10=___
249 -200-37=___ 12 +32-29=___ 528 -520+11=__ 967 - 947 =
635-630-2=___ 298 - 147 -139=__ 789 -790+2=__ 349-330+2=__
520-518+17=__ 622 -607-10=___
2. What kind of maths do Snowy Owls like?
b+b4+4+3=_ 290-285+18=___ 189-185+8=__  458-453+2=__ 382-377=____
20-13-6+1=__  238-232+12-= 1000 - 999 =
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3. What do snowmen eat?

900-892+1=__  20+20+20-57=__ 135-132+2=__ = 382-381+1=__  459-454=__
522 -520+16=__  173-170+4=__ 116 +10-121=__ 204-150-36=__  333-200-114~=
892-891=__ 412 -408 +10=___  607-603=__
99 -96=__ 702-700+6=__  2+1+2+1+3=__ 812-800=__ 933-930+9=__
17 +98-90=__
111-110+18=___  399-398=__ 13+13-5=__ 441 -432-6=__ 127 -122=__

4, What sort of music do elves like?
178 -155=__ 20+20+20-42=__ 389-388=__ 2+2+2+5+5=__
567 - 554 =__ 99-30-30-18=___ 870-851=__ 67 -60+2-= 18-3-3-3-6=

5. What do elves drive?

230 - 217 = 88 -79 =

560 -550+ 12 = 678 - 677 =

404 - 390 =

230 - 216 =

167 - 158 =
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o Ho! Ho! Ho!

Work out the answers to the questions. Each number is linked to a letter. Use these letters to reveal the punch line of
the Christmas jokes. Remember to read the clues across the page.

A B C D E F G H I J K L M

10 11 12 13 14 15 16 17 18 19 20 21 22

N 0] P Q R S T u \Y w X Y z

23 24 25 26 27 28 29 30 31 32 33 34 35
1. What do you call a Christmas detective?

390 - 388 + 26 = 1000 - 880 - 110 = 178 - 118 - 37 =

723 - 612 -110 + 28 =
2+10+ 13 +20-33 =

827 - 404 - 420 + 7 =
978 - 957 = 1004 - 980 + 50 + 70 - 114 =

3320 - 3306 = 112 + 2000 - 2084 =

2. What did the big candle say to the little candle?

5200 - 4600 - 582 =
5444 - 3440 - 1988 =

8478 - 8470 + 14 =

912 - 888 = 5211 -5193 =

3102 - 3100 + 21 = 4123 - 4120+ 13 = ___

7611 - 7587 = 9930 - 9900 = 1145 - 1140 + 14 =
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3. Where would Rudolph go if he lost his tail?

8922 -8912=__

5676 - 5649 = 960 - 160-800 + 10+ 4 =_ 30-27+26=__ 7893 - 7883 =__
99 -88+7=__ 823-802=___

333-305=___ 210-55-101-37=___ 4b+4+3+3+10=__ 145-115-5=__

4, How do chickens dance at Christmas?

114-100 -10+8=___ 3219 -3202=__ 3+3+3+3+2+2+2=__
187 -175=___ 4949 - 4939 + 10 =

300 +219-490=__ 114 +219-309=__

8311 +102-8401=__ 1022 + 400 - 1405 = __ 911 + 111 -1004 = ___
5100 + 1022 - 6110=____ 128 -108=__

5. What goes red, white, ho, red, white, ho?

3+5+3+8+9-= 4578 - 4568 = 1899 + 3199 - 5075 = 8966 - 8937 =
1000 - 880 - 110 =

4529 - 4502 = 1322 + 319 + 1100 - 2717 = 1010 + 220 + 190 - 1399 =
309 + 102 - 390 = 521 + 666 - 1169 = 2000 - 1977 = 401 + 122 - 507 =
4199 - 4186 = 3100 + 2199 - 5275 = 3228 + 1100 - 4296 = 1000 + 2311 - 3288 =

9002 + 900 - 9892 =
117 - 100 = 2670 + 119 - 2771 = 5177 + 100 - 5256 = 3122 - 3101 =
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Christmas Jokes Addition and Subtraction Answers
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1. Sandy Claws!

1. A lost clause!

1. Santa Clues!

2. A snowbank!

2. Owlgebra!

2. I'm going out!

3. A meltdown!

3. Icebergers and chilly sauce!

3. A re-tail shop!

4. A puddle!

4. Wrap music!

4. Chick to chick!

5. Mistle-toes!

5. Mini van!

5. Santa rolling down a hill!
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